C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 59x68 = 2) 67x75=

1.

' 2.

' 3

____________________ L : a.

"""""""""""" o 5.

6.
3) 53x36 = 4) 42x55 =
5) 43%x66 = 6) 44x28 =
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Multiplying Using Arrays Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 59x68 = 2) 67x75=
1. 4,012
60 8 70 5
E E 2 5025
50 i i
(50 x 60) (80 x B) ;
3,000 1400 60 (60 x 70) (60 X 5) 3. 1,908
: 4,200 30(
____________________ - E s 2,310
9 (9 x 60) ©x8)
N T[T 37 (35) 5. 2,838
490 i
6. 1,232
3) 53x36 = 4) 42x55 =
30 6 50 5
: 40 :
50 ' (40 x 50) (40 % 5)
(50x30) (50%6) :
1500  80g 2000 200
: 2 pommmmme- [ZRBOy =" "=-- (jl' %)
3 r--pnean; ke 100 10
90 18
5 43x66 = 6) 44x28 =
60 6 20 8
40 (40 x 60) (4b x{6)
2,400 DA( !
; 401 (40x20) (MOx8g)
. 800 1320
3 pmomm--- [icutals'o) ulaalale 1dxB) :
180 18
4 [T @¥0) 1Ak
80 32
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem.

1) 63x69 =
3) 42x53 =
5 62x75=

2) 66x53 =

__________________

4) 53x72=

6) 74x88 =

Answers
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1-6 |83]|67]50[33][17] 0 |




ﬂh Multiplying Using Arrays Name: Answer Key

Usethearray provided to solve each problem. Answers
1) 63x69 = 2) 66x53 =
1. 4,347
60 9 50 3
i : 2. 3,498
60 (60 x 60) (60 x ) 60 (60x50) (60 3) 3 2,226
3,600 1540 3,000 180
i i s 3816
3 prmmoee- [TBOF 77777 @x) N (6%50) ~~ (6%3) 5. 4,650
180 27 300 18
6. 6,512
3) 42x53 = 4) 53x72=
50 3 70 2
40 (40 x 50) (4(% 13) > (50 x 70) (s 2
2,000 120 3500 i
E 3 pm=----- BX7Op """ e 2)
2 po------ 1ZXBOy """ 1223 210 6
100 6
5 62x75= 6) 74x88 =
70 5 80 8
60 (60  70) (60>5) 70 (70 x 80) (7D x[8)
4,200 ilsOJ 5,600 56(
2 pm=----- {227gp====-- e2<ks) R R Sy - - .
140 10 wn @z
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 52x58 = 2) 36x33=

1.

- s 2

' s 3

. 5 a

--------------------- 5

6.
3) 33x46 = 4) 45x68 =
5) 52x57 = 6) 42x37 =
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ﬂh Multiplying Using Arrays

Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 52x58 = 2) 36x33=
1 3,016
50 8 30 3
: : 21,188
2,500 1400 900 190
i i s 3,060
2 fprm=m--- [ZRBOp-""""-- (I')">E' """"""""""" ’- 5. 2,964
100 16 6 (6 x 30) @xp)
180 118
6. 1,54
3) 33x46 = 4) 45x68 =
40 6 60 8
30 (30 x 40) (éo x 6) “ (40 x 60) (40 B
1,200 E 180 2,400 5320
______________________ - I N CEY- 0 M (T
3 (35°40) (8§ o X
120 18
5 52x57 = 6) 42x37 =
50 7 30 7
S0 (50 x 50) (5:0 x 7) 40 (40 x 30) (-540 7
2:500 1350 1,200 ! 280
2 pmmmm---- (x50~ """ (;7'x' ?) E
100 14 2 prommty (25T X7
60 14
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers
1) 43x28= 2) 37x18=
1.
! ' 2.
: : 3
| , 4.
L R 5.
6.
3) 36x36= 4) 34x49 =
5) 46x54 = 6) 44x52 =
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ﬂh Multiplying Using Arrays Name: Answer Key

Usethearray provided to solve each problem. Answers
1) 43x28 = 2) 37x18 =
20 8 10 8 L 1,204
E ! 2 666
E 30 « E y 3. 1,296
40| (a0x20) (40x8 (3030010) :(32408)
800 1 320 i
: : s 1,666
; N eeee s 2484
____________ [ 7x10) 1 (7x8
3 (3%720) " "¥(3x8) v
60 24 6. 2,288
3) 36x36= 4) 34x49 =
30 6 40 9
30 (30 x 40) {30 9
0 (30 % 20 06 1,200 270
900 1 180 :
o Y N 13%9)
; 160 36
e ———— ER—
6 (6 x 30) [6x6
180 ' 36
5) 46x54 = 6) 44x52 =
50 4 50 2
40 (40 x 50) (45.) X 4) 40 (40 x 50) (40: 2)
2,000 160 2,000 8
6 [~ TR o P 3
(63080) (6'244) ’ (4;080) . I; ?
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 62x69 = 2) 53x39=

1.

: : 3

: : a.

...................... L. I 5.

6.
3) 57x66 = 4) 54x57 =
5) 46x42 = 6) 34x27 =
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ﬂh Multiplying Using Arrays Name:

Answer Key

Usethearray provided to solve each problem.

1) 62x69 = 2) 53x39 =
60 9 30 9
60 (60 x 60) (60 x 9) 50| (50x30) (50x9)
3,600 1540 1,500 450
2 pemmmmmen (2%6Q) == ====="~ (:73(' T e
120 18 (3 3030) (3 2><79
3) 57x66 = 4) BAx57 =
60 6 50 7
50 (50 x 60) (50 x(6)
3,000 80( 50 (50 x 50) #0x )
: 2,500 1350
[N (7x60)  (4xP) :
420 42
S N ¢ 310 R % )
200 28
5) 46x42 = 6) 34x27 =
40 2 20 7
40 :
(40x40)  (40%2) !
1600 W ” (3068020) '(Sglxo7
6 [ T (exa0) 652) ]
240 12 4 (4 x 20) 5(4 x 7)
${0) 28

Answers

4,278

2,067

3,762

3,078

1,932

918
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers
1) 38x22= 2) 36x44 =
1.
' ' 2.
: ' 3
| ! 4.
; 5.
6.
3) 48x45= 4) 49x54 =
5) 43x29 = 6) 39x23 =
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Multiplying Using Arrays Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 38x22= 2) 36%x44 =
1. 836
20 2 40 4
: : » 1584
0| (30x20) (3ds2 30 (30 x 40) (3 x14)
( 600 ) bq : 1,200 n2(Q 8. 2’160
i i s 2,646
Fommmmmmmm-- - P B v
8 8x20) (8iX2 (6 x 40) ©xP
( 160 a 6 : - - >. 1,247
6. 897
3) 48x45= 4) 49x54 =
40 5 50 4
; 40 :
40 . (40 x 50) (40 X 4)
(40 x 40) (4o x5)
800 b00 2,000 160
.................... L 9 (9% 50) gx)
8 (8 x 40) (& x 5) 450 13
%) 43x29= 6) 39x23=
20 9 20 3
30 0x20) (@3
401 (40x20) fa0x9 o Ced”
800 1 360 :
I S 9 y '
3 [TT13x20) T TiERs) (20 (@xf)
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers
1) 36%55= 2) 42x26 =
1.
a
6.
3 37x48= 4) 44x59 =
5 46x39 = 6) 47x59 =

1-6 |83]|67]50[33][17] 0 |
[ Math ] www.CommonCoreSheets.com 7




ﬂh Multiplying Using Arrays

Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 36x55= 2) 42x26 =
1. 1,980
50 5 20 6
: 5 2. 1,092
30 (30 x 50) (30 x[5)
1,500 1150 .
’ ! - 1,776
____________________ ; 40| (40x20) (40 x §) 3
6 6 x 50 ax b 800 1240
e a5 4. 2,596
5 1,794
2 [--[7R207 " 2X6) 5 79
40 12
6. 2,773
3) 37x48= 4) 44x59 =
40 8 50 9
30 30 x 40 :30 x §
( 1,20?)) ( 240 ) 40 (42 3020) (:klggOE)
T axag [ N
280 56 4 (45 50) (4;69
5) 46x39 = 6) 47x59 =
30 9 50 9
40 (40 x 50) (::lo x 9)
40 (40 x 30) f40x 9 2,000 1 360
1,200 360 :
: T[T ks %9
i 350 63
6 (6 x 30) (6 x9)
180 54
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers
1) 48x23 = 2) 45x44 =
1.
1 1 2
1 1 3
: ' 4.
1 5
6.
3) 33x36= 4) 37x24 =
5 39x14 = 6) 35x12 =
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Multiplying Using Arrays Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 48x23 = 2) 45x44 =
1. 1,104
20 3 40 4
: : . 1,980
40 : :
(40 x 2040 A 3) 40 - 3 1,188
: (40 x 40) (4p x|4)
800 %2) 1,600 ﬁsc
4. 888
8 | @xay@ly e
O o) S (5 x 40) (G x ) > 46
200 20
6. 420
3) 33x36= 4) 37x24 =
30 6 20 4
30 : 30 (30 x 20) (3:0 x @)
(30 x 30) (30> 6 600 1120
900 ' 180 :
3 [T @Bx30) 3%6) 7 (7x20)  (Tx4)
90 18 140 128
5 39x14 = 6) 35x12 =
10 4 10 2
30 : :
(30 x 1030 x 4) '
300 1120 30 | (30 x 1030 % 2)
i 300 B(Q
O l@xw9xH e i
9 '36 S | (5x10(5:x[2)
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 43x36 = 2) 37x43=

1.

: ' 2.

: : 3.

N T L. 4,

---------------- - 5.

6.
3) 33x22= 4) 34x45 =
5) 39x46 = 6) 36x35=
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ﬂh Multiplying Using Arrays

Name: Answer Key
Usethearray provided to solve each problem. Answers
1) 43x36 = 2) 37x43 =
1,548
30 6 40 3
; 5 1,591
: 30 '
i (30 x 40) (3043)
40 (40x30)  (40x6) 1200 P 726
1,200 1240 :
A S 1,530
! ! (7 x 40) (7x[3)
S GBxR] " BxY) 1,794
90 18
1,260
3) 33x22= 4) 34x45 =
20 2 40 5
30 (30 x 40) (a*'o x B)
i 1,200 1150
30 (30x20) (30X2) :
600 B0 :
: 4 [ 4xa0) T (dx9)
i 160 20
3 [T T
60 6
5) 39x46 = 6) 36x35=
40 6 30 5
30 (30 x 40) (30 6)
1,200 +180 30 (30 x 30) (30 x %)
| 900 ' 150
9 (9 x 40) (%6
360 154 e .
6 (6 x 30) 6x5
180 1 30

+OY
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C:# Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 45x59 = 2) 49x59 =

1.

! 2.

: 3

_____________________ 4

5.

6.
3 39x16= 4) 37x13=
5) 37x48 = 6) 37x14 =

1-6 |83]|67]50[33][17] 0 |
[ Math ] www.CommonCoreSheets.com 10




ﬂh Multiplying Using Arrays Name: Answer Key

Usethearray provided to solve each problem. Answers
1) 45x59 = 2) 49x59 =
™ . - . 1 2,655
E i 2 2,891
40 y : d 40 (40 x 50) (1'10 x 9)
(431 oo?)o) (5”260") 2,000 1360 3 624
S - a 4381
N R Y R {553 ’ ©x50) 99
250 45 5, 1,776
6. 518
3 39x16= 4) 37x13=
10 6 10 3

30 (30 x 1030 x )

300 180 30 | (30 x 1¢3p x|3)
: 300 190
9 (9% 1009 % 6 :
% s}  _ Tt L

7| (7x 100 % B)
70 121

5) 37x48 = 6) 37x14 =
40 8 10 4
30 (30 x 40) (308
1,200 + 240 30 | (30 x 1080 x 1)
: 300 1120
7 (7 x 40) (7x8 :
7] (7% 10)(7 x 4)
70 128
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